
CHELSEA CONVERTIBLE CRIB
Assembly Instructions

Instructions d' assemblage

1

IMPORTANT : Prière de lire attentivement le mode d'emploi et de le conserver pour 
référence ultérieure. 
IMPORTANT: Please read instructions carefully and keep for future reference.



Thank you for choosing Caramia Furniture.
To ensure the best performance from your crib, please read the following
instructions carefully. Carefully remove and layout all parts. Familiarize yourself
with all exhibits and diagrams to facilitate the assembly of your crib.

Merci d' avoir choisi Caramia Furniture.
Pour assurer Ie meilleur rendement de votre d'enfant, s'il vous plait, lisez
soigneusement pie'ces. Familliarisezvous avec toutes les pie'ces expose'es et
diagrammes pour faciliter I'assemble'ede votre lit d'enfant.

2

U 8 1    0   M6 x 5 Allenhead Bolts/ Boulons à six pans de M6 x 51
V 08 10 Insert      M6 x   Bolts/ Boulons à six pans de M6 x 15

U V

Extensional  Kit  Kit Extensionel   not  supplied/  non fourni
K    2      Rails/ Rails
L    3       Slats/ Lamelles
M   3       Double Bed Support! Soutien double du lit
N    6       Wood Screw 35mm/ Vis à bois de 35mm

A

 Parts list / Liste des pieces
A    1    Headboard/ Tête de lit
B    1    Footboard/ Pied du lit
C    1    Left Crib End/ Extrérnlté gauche du lit
D    1    Right Crib End/ Extrérnlté droite du lit
E    1    Mattress Support/ La base du matelas
F    04  M6 x 45 Allenhead Bolts/ Boulons à six pans de M6 x 45
G   16   M6 x 60 Allenhead Bolts/ Boulons à six pans de M6 x 60
 I    20    Lock Washer/ Rondelle de écluse
J    20    Washer/ Rondelle
P    01    Allenhead Wrench/ Clé a six pans

M6x 5Ø1M6 x15



 Step 1:   Attach mattress base to crib ends,
  Attach the mattress base to the crib ends by inserting

      Allenhead Bolts (F), Lock washer (I), Washer (J) to lower holes.
                Using Allenhead wrench (P) that are provided, tighten the bolts on

      both side.

 

étape 1: Attacher la base du matelas aux ectrérnités de lit d'enfant.
Attacher la base du matelas aux ectrérnités de lit d'enfant en insérant
Le boulon à six pans de (F), rondelle  de écluse (I), rondelle (J) au trou
Ie plus bas. En utilisant les clés a six pans (P) qui sont fournis, serer les
boulons de part et d'autres.

Assembly of Crib Ends/ Assemblage des extremites de lit d'enfant

This Step Requires/ Cette étape requis

4)M6 x 45 Allenhead  Bolts/ Boulons à six pans de M6 x 45
4)Lock Washer/  Rondelle de écluse
4)Washer/  Rondelle
1)Allenhead  Wrench/  Clé a six pans

3

                Using 8 Allenhead Bolts (U) and 8 Insert Bolts (V) to hide all the holes 
on Left and Right Crib End (C), (D). Tighten all Bolts.

U

V

Attacher 8 boulons Allenhead (U) et 8 boulons (V) pour masquer tous
les trous. Serer les boulons de part et d'autres.



Step 2: Attaching Headboard & Footboard.
Attach the headboard (A) & Footboard (B) to the left (C) and right crib (D)
ends by Bolts (G), Lock washer (I), Washer (J) into all 16 hole locations. 8
holes on each Crib Side parts (C) & (D).
Using Allenhead wrench (P) that is provided, tighten the bolts on both side.
See figure below for all bolt locations.

étape 2: Attacher la tête et Ie pied du lit.
Attacher la tête et Ie pied aux extremités gauches et droites du lit en insérant
les boulants (G), la rondelle d' écluse (I), la rondelle (J) dans les trous
supérieurs et inférieurs. En utilisant la clé a six pans (P) fournis. Serer les
boulons de part et d'autres.

This Step Requires/ Cette étape requis

16) M6 x 60 Allenhead Bolts/ Boulons à six pans de M6 x 60
16) Lock Washer/ Rondelle de écluse
16) Washer/ Rondelle
1)   Allenhead Wrench/ Clé a six pans

4

Using 8 Allenhead Bolts (U) and 8 Insert 
Bolts (V) to hide all the holes on Left and 
Right Crib End (C), (D). Tighten all Bolts.
Attacher 8 boulons Allenhead (U) et 8 
boulons (V) pour masquer tousles trous.
Serer les boulons de part et d'autres.

U

V



Step 3: In order to adjust the height of the mattress support,remove the 4
         Allenhead Bolts (F) from the crib ends to the mattress support.

              Revise the height to the desired position, then reinstall the 4 Bolts.
               Tighten  securely.

     étape 3: Pour ajuster la hauteur de I'appui de matelas, enlevez les
   4 boulons a six pans de (F) des extrernites de lit d'enfant a I'appui de

    matelas. Hevisez la hauteur a la position desirable. Puis reinstaller
    les 4 boulons. Serrez solidement

Important: When child is able to pull to a standing position, set mattress to lowest
position and remove bumper pads, large toys and other objects that could serve as steps
for climbing out.

Important: Lorsque Ie bébé peut se tenir debout, placer Ie matelas à la position
la plus basse, enlever tout ce qui pourrait  aider Ie bébé à grimper  et tomber en
dehors.

This Step Requires/ Cette étape requis

1)  Allenhead  Wrench/  Clé à six pans

5



Step  4: Remove the Footboard  to convert  into a Toddler  Day Bed.
étape  4: Enlever Ie pied de lit pour leTransformer  en lit de jour pour bébé.

    Convert to Toddler  Day Bed/ Transformer  en lit de jour pour bébé

Important: If converting  crib to Toddler  day bed,make  sure that
the mattress  support  is in the LOWEST position.

Important: Si vous convertissez Ie lit de bebe en lit de repos pour enfant,
                      assurez-vous que Ie support à matelas est au niveau LE PLUS BAS

6

Using 8 Allenhead Bolts (U) and 8 Insert 
Bolts (V) to hide all the holes on Left and 
Right Crib End (C), (D). Tighten all Bolts.
Attacher 8 boulons Allenhead (U) et 8 
boulons (V) pour masquer tousles trous.
Serer les boulons de part et d'autres.

U

V



      Step 5: Assembly of the Full Size bed (Extension kit is not included).
 Attach rails to the headboard & footboard parts by inserting hooks.
The wood slats have to be fixed on each hole of the rails
 with 35 mm wood screws.

étape 5:  Assemblage de plein lit (Kits extensionnel non fournis).
                     Attacher les rails a la tete et qu pied du lit en inserant les
                     crochets.Les lamelles du bois doivent êtres fixésdans chaque
                     trou des rails avec des vis à bois de 35mm.

6) Wood Screw 3Smm/ Vis à bois de 3Smm

Convert to Full Size Bed/ Transformer  en plein lit

3  Double bed support /
Sountien double du lit

7


	1
	2
	3
	4
	5
	6
	7

